542
‘ @ i YETHIPE ICCATUYHBIX 3HAKA, TIOPSIIOK ONepaIii

Nwms: Jara: Onenka:
501-24x4,8+6= 24x4,2+6+6,5=

10x3,8+5—-2,4= 4,5-5,5%x3,4+2,4=
4,7-4,8—4,3x3,9= 4x55+2+3,1=

4,5+4x5,2+2= 6+4,6-4,1x3,5=

5,4—2-3,1x4,6= 5,5+3,8—4,3x3,2=
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542
‘ @ i YETHIPE ICCATUYHBIX 3HAKA, TIOPSIIOK ONepaIii

Nwms: Jara: Onenka:
5,1 -24x4,8+6=-14.1 24x4,2+-6+6,5=233
10x3,8+5-2,4=52 4,5-5,5%x3,4+2,4=—-118
4,7-4,8—4,3x3,9=-16.87 4x5,5+2+3,1=14.1
4,5+4x5,2+2=149 6+4,6-4,1x3,5=-3.75
5,4-2-3,1x4,6=-10.86 5,5+3,8—4,3x3,2=-446
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